Roman Shade Instructions

Congratulations on your purchase of a specialty shade from DEL Motorized Solutions.
If you have any questions, please call technical support at 1-866-446-6867

or email us at info@motorizedsolutions.com

@ Important Notes - Please Read Before Installing @

CAUTION: RISK OF FALLING OBJECTS
Securely install the shade system per the mounting instructions. Failure to do so
could result in minor or moderate injury.

WARNING: SHOCK HAZARD
Can cause serious injury or death. Turn off power at the main service panel before

connecting or servicing a shade with a wired power supply.

Shade brackets and hardware are to be anchored into wood blocking. If wood
blocking is not available, you must use appropriate fasteners (not included) to
support the weight of the system and load.

Pre-drill all holes with the appropriate size bit.

TOOLS REQUIRED

Pencil, Tape Measure, Powered Screwdriver / Drill, Level, 1/4 hex head driver,
wire cutter/stripper, drill bits, steamer

Roman shade fabrics are susceptible to wrinkling during shipment and installation. It is common for the shades to require steaming after they
have been installed. Great care should be taken while steaming to avoid shrinkage, water stains, burn marks, and other damage to the fabric.

M otorized

OLUTIONS
866-446-6867




Outside Mount Roman Shades

866-446-6867




Step 1. Strike a level line.

Step 2. Install "L" brackets into solid blocking using
2" screws. The end brackets are to be placed at a
location to clear the end tape reels (approximately

3 1/2" from each end). Install intermediate brackets at
approximately every 24".

Note - On Triathlon shades, the "L"
brackets at each end are to be placed

at the edge of the system in the 1" space
between the fabric return and start of the
motorized assembly.

866-446-6867




Step 3A. Slide the Roman shade over the brackets.
Note - To protect the fabric, the shade should be

installed while it is in the raised position.

Step 4A. Install 3/4" screws through the "L"

brackets and into the mounting board.

*Note - For Triathlon systems, the intermediate brackets
are used to support the shade weight. You will not have
space to install the 3/4" screws in the mounting board
at the intermediate brackets.

Fabric Front Shade

866-446-6867




— For shades that are fabric back, or have rear

Pt valances, cut a 1" horizontal slit in the fabric, 3/4"

| down from the top of the wood mounting board,

to allow the "L" brackets to pass through the fabric.

\

~

3/4"

Fabric Back Shade

866-446-6867




Step 4B. Install 3/4" screws through the "L"

. i ntin ard.
Step 3B. Slide the Roman shade over the brackets. brackets and 1nto.the mounting _bo d_
*Note - For Triathlon systems, the intermediate brackets

Note - To protect the fabI‘IC, the shade should be are used to support the shade weight. You will not have

installed while it is in the raised position. space to install the 3/4" screws in the mounting board
at the intermediate brackets.

Fabric Back Shade

866-446-6867




Inside Mount Roman Shade

866-446-6867




Install 2" screws placed at locations to clear the tape reels.
Install intermediate screws at approximately every 24".

Fabric Front Shade and Fabric Back Shade

866-446-6867




Programming Guides

Please scan the QR code or click the link below to be forwarded to the programming
guides for instructions on how to set the upper and lower limits, assigning controls, etc.

Use the QR code above to access the instruction
guide from a smart device.

Click Here

Use the link above to access the instruction guide
from an electronic device.

866-446-6867



https://delmotorizedsolutions.sharepoint.com/:f:/s/DELDocuments/EipW71ntmhpFq5jYS6-HsJkBaMvBkPUtUJQ2fjJOR64DRQ?e=6ET8RM

	IB Step 1
	instructions_cover_page
	OB Cover
	OB Step 1
	OB Step 3



